C:# Multiplying Unit Fractions with Numberline Name:

Usethe numberlineto solve. Answers
1) 1 0 1 2 3 4 5 6
gx—-—- Y4———+—F+—F+ 1
2
2.
2) 0 1
—%x4: ¢+ 3
4,
3) 0 1 2
8w%: ———————————————+—+—t» 5
6.
4) 0 1 2 3
.%xgz 4—+t——++++++bh 7
8.
5) 0 1
.%x7: 4——tt+—+—+—F—+—+—++b o
10.
6) 0 1 2 3
3w%: 4+
7) 0 1 2 3
awéz ¢+—tF——F—>
8) 0 1
1 | | | | | | | | | | | ] ] ] ] ] ]
_ = < | | | | | | | | | | | | | | |>
6 10 ]
9) 0 1 2
—%xZ: ¢+t +++ +
10) 0 1
A 4—~—+—+—+—+—+t—+—+—+
8
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C:# Multiplying Unit Fractions with Numberline Name:

Usethe numberlineto solve. Answers
17, 47, yA 27,
Y, 1%, 7 2 t
1) 0 1 2 3 4 5 6 ;
A 44—+
4,
2) 0 1
%x4: 4+— — 5
6.
3) 0 1 2
i, ——+—+++t+++++ s ;
0 1 2 3 >
Yl 4ttt
- ! 9.
%nz 4+—t++—+—+—++++++b
6) 0 1 2 3
A 44—ttt
7) 0 1 2 3
6x%= ¢+t
8) 0 1
1 | | | | | | | | | | | | | | | | |
_— < | | | | | | | | | | | | | | I>
6 10 I
9) 0 1 2
%xgz 4—t—+—+—+—+—t—n
10) 0 1
bxt- ¢———F——+—+—+—++++++b»
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